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[English Version]
The figures in the margin indicate full marks.

Group - A

Module - 1
-Answer any five questions. 2x5
. Sum of the coefficients of odd terms in the expansion of (1 + x)” is

(A) 27 B) 2!
(C) m_q (D) 22n

. If log £0.25=4, then x="?

(A) 0.5 (B) 1

(€) 2 (D) S

. I BC =18C ., then r=7

(A) 12 (B) 14

) 8 | D) 9

. How many handshakes are there if 5 persons shake hands?
(A) 10 (B) 18

(C) 15 (D) 20

. Find the compound interest on ¥ 7500 at the rate of 4% per annum for 2 years, compounded annually.
(A) 610 (B) 612

(C) 614 (D) 616

. log; log, logﬁ 16=7

(A) 0 (B) 3

©1 (D) 2

. If X and Y be two sets, then (XU YN'n (X'UY) =2
(A) X (B) Y
(C) XuY (D) ¢
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10.

11.

12.

13.

logs Y 5V5Y5..00 =17

B) 1

D) 5
© V5 (

— C)="7
If A={a,b,c,d}, B={b,d,e,f}, C={c,d, g} then A-(B ()
CAY b} (B) {a,b,c}
© ©.4) By b}
5
. = a7 .
4th term from the end in the expansion of ?—; 18
(A) - 32’5 (B) 15x2
3x° -
©) = (D) 5
Module - IT
Answer any five questions. 2x5

Laspeyres’ Index Number formula satisfies
(A) Time Reversal Test (B) Factor Reversal Test
(C) Both (A) and (B) | (D) Neither (A) nor (B).
Which one of the following components is associated with the long term Movements in time series data?
(A) Secular Trend (B) Seasonal Variations
(C) Cyclic Fluctuations (D) Trregular Movements.
If the variables x and y are independent, then their correlation coefficient (7 is
(A) r=1

B) r=-1

@ r=0 (D) 0<p<
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[f the variables x and y aré related by 2x+ 3y =5, then the correlation coefficient (r) between

x and y is

(A r=1 ®) r=-1
2

(C) r=0 (D) "=_§

If the events A and B are independent, then
(A)P(ANB)=0 (B) P(AUB)=1
(C) P(ANB)=P(A) P(B) (D) None of these.

If P(A wB)=1, then the events A and B are
(A) independent (B) mutually exclusive
(C) exhaustive (D) equally likely.

A die is thrown. The probability of obtaining either ‘5’ or 6’ is

(A) B)

| —
| —

W

(C) (D) None of these.

If 0, =10, 0,=12, by, =—0.38, then the value of r is
(A) -0.36 (B) —0.47
(C) —0.96 (D) -0.52

Which characteristic is not an attribute?
(A) Blindness (B) Deafness
(C) Sickness (D) Age

Which of the following methods is not used to measure the Secular Trend in Time Series Analysis?
(A) Free-hand method (B) Moving average method
(C) Least square method (D) Delphi method.
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Group - B

Module - I

Answer anmy fen questions.

3x10

75 5 32 .
— 2log=+log———log2 is
1. Value of log16 og9 0g 3 g

(A) 0 B) 1
(C) log 5 (D) 2

2. If rth term and nth term of an A.P. series are n and r respectively, then the value of mth term is
(A)n+r-m B) ntr+m

C)n—r-m (D) n—r+m

3. What is the value of n, when 2"C;:"C, =12 : 1?
(A)3 B) 5
(€ 6 (D) 8

4. For two non-empty sets A and B, if (A—B), (B—A) and (A N B) are each non-empty, then
A-B)uB-A)U(ANnB)is
(A) A ' (B) B
(C) AUB (D) A'nB’

5. If3+log x=2 log y; value of x is

y 2
iy Y
(A) 1000 ®) 1000
}’2 .
(© e (D) None of these,
6. Iflog,42 =0.3010, then the value of logg25 is
(A) 0.4771 (B) 0.4342

(C) 1.548 (D) None of these,
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9
| :
In the expansion [-3—::2 —-—-J , the term independent of x is
2 3x

7 ® S
(A) 13 ) 13

2 9

-— D —
(© 3 D) -

11
Cocfficient of x7 in the expansion [sz +L) is

4x
33 77
#) 5 ®
231 15
5 ® =

If A={b, c}, B={a, ¢}, C={c, d}, then A x (BUC) is
(A) {b, c} (B) {(a, b), (a, ©), (a, d)}
(€) {a, b, c, d} (D) {(b, a), (b, c), (b, ), (¢, a), (¢, ©), (¢, d)}

IfA={1,23,4,5},B={3,4,56,7} then A-(ANB) is

(A) {1,2,3} : (B) {3,4,5}

(C) 45.6,7; (D) {1,2}

In how many different ways can.the letters of the word ‘GEOGRAPHY’ be arranged such that the
vowels must always come together?

(A) 2520 (B) 2530

(C) 15130 (D) 15120

Find the numbers less than 1000 and divisible by 5 which can be formed with the digits 0, 1, 2, 3, 4, 5,
6, 7, 8, 9; each digit occurring not more than once in any number.

(A) 192 (B) 78

(C) 154 (D) 210
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g cars at compound interest rate 10%

14.

15.

16I

17.

13. Amit invested an amount of ¥ 5000 in a fixed deposit scheme for 2y

per annum compounded half yearly. After maturity Amit will get—

(A) ¥ 6077.53 (B) ¥7320.50

(C) 6050 (D) None of these.

: is 1:2 in the
What is the value of » when the ratio of the coefficients of rth and (r+ 1)th terms

expansion of (1 +x)29?
(A) 16 B) 12
< ) 10 (D) 7

The difference between simple and compound interests compounded annually on a certain sum of money
for 2 years at 4% per annum is Re. 1. The sum (in ) is

(A) 625 (B) 630
(C) 640 (D) 650
Module - II
Answer any fen questions. 3x10

One card is drawn from a pack of 52 cards. The probability that the card is either a “King’ or a ‘Heart’
is

1 17
(A) = o
2 (B) 52
4
©) 3 (D) None of these.

The probability that a leap year selected at random will contain 53 Sundays is

3
(A) = 2
7 (B) -

5
C ==
(C) 7 (D) None of these.
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The coefficient of rank correlation between the marks in Statistics and Accountancy obtained by a
certain group of students is 0.8. If the sum of the squares of the differences in ranks is given to be 33,

then the number of students in the group is

(A) 10 (B) 22
(©) 30 (D) 33
Karl Pearson’s coefficient of correlation between two variables x and y is 0.52, their covariance is 7.8.
If the variance of x is 16, then standard deviation of y is
(A) 5.23 (B) 2.15
(C) 6.24 (D) 3.75
Using 3-year moving average method, the trend for the year 2017 from the following data is
Year 2012 2013 2014 2015 2016 2017 2018
Values 21 34 45 28 40 57 73
(A) 37.33 (B) 56.67
(C) 33.33 (D) 41.67
Two fair dice are thrown simultaneously. The probability that the product of the numbers appeared is 12
1 1
(A) 3 ®)
(C) L (D) 1
9
Regression equations are 3x —5y=13 and 2x—y="7. The estimated value of x when y=10 is
(A) 12 (B) 95
(C) 85 (D) 8

If P(A)z%, P(B)-:-% and P(AuB):%, then the events A and B are

(A) independent (B) exhaustive

(C) mutually exclusive (D) None of these.
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24. From the following data :
2022
Commodity AL - price @)
Quantity | Price (%) Quantity _rl‘iC_E____
A 20 8 30 12|
B 30 12 40 _____§_____
C 10 16 6 20

25.

26.

27.

28.

Fisher's Ideal Price Index Number for the year 2022 with 2015 as base year is

(A) 105.27 (B) $8.34
(C) 99.01 (D) 1125
n to the base period

If .thc prices of all commodities in a place have increased by 1.25 times in compariso
prices, then the index number of prices for the place is now (index number of prices of base period = 100)

(A) 100 (B) 125
(C) 225 (D) None of these.

If the tw gressi ici =
o regression coefficients are b, =—0.4 and bxy=—0.9, then the value of the correlation

coefficient 7 is
(A) 0.6 - (B) 0.4
(C) —0.4 (D) -0.6

The regression equations calculated from a gi
given set of observations 33 =
20x —9y=107. The correlation coefficient between x and y is S ==

(A) -0.6 (B) 0.6
(©) 03 (D) -0.3
If P(4)=—-, P(B)=2 and 3
10° 5 P(A uB)z_S_ then P(4|B) is
1
3 ®) 5
1
© 3 ® =
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29. The general cost of living index of 2020 from the following table is
Class Food Dress | House rent| Fuel Miscellaneous
Class Index 620 575 325 255 280
Weight 30 20 25 15 10
(A) 550 (B) 200
(C) 107.5 (D) 4485
30. A table is given below :
| Year | 2017 2018 2019 2020 2021 2022
Demand
‘000 units & 12 - 15 17 22 24

Fitting a straight line to the above data by the method of least squares, the estimated demand for

18
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(A) 27.53
(C) 28.34

(B) 26.01
(D) 25.96

2023



